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i EE mm 63 ihAEE mm 63
Bahis 1t FRRIEE N'm 155 BHfELE FIRAE N'm 191
BSEHEE N-m 250 fEynfskiabia N:m 250
BHMEEEE min’’ 150 HHHEEEE min’ 150
AR R min”’ 40 nfikivaages min’' 55
EREE arc.sec 60 HEAEE arc.sec 60
EEREE arc.sec +7 EERE arc.sec +7
B A B pm 10 B i kol pm 10
i imEmBkEh Hm 10 EHmER B pm 10
BB TR N 3140 ST T N 3140
BHMBSITEREET N 7140 BHBSITREREE N 7140
BHMBITHE N-m 170 BHMSIFEE Nm 170
BMANBAEBIREIRME x10"*kg-m? 0.80 WA AEBREIRME x10"*kg-m? 0.80
BAHERAE N:m 0.80 EWAERAE N:m 0.80
FREE (8) Kg 16 FREE (2E) Kg 16
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